


y=ax+8 9 e x O] g2 3 WF S7Hd o, y 9
= 37t} o] = o] x AH-2?



Ay = -3x+33y = -3x+1o] i AP o8 L2 727

rlo



u) Aol SHICIH ST B o] ATstAisA Totol

o



Axperg Al o] Jjmrt A (2, 4)F A

1}

-

t}. oluj, o] I m o

x+ay+6=0







3 —
y=ax+5%y= Zx—kb o] J#jZrt A (-4, 3) = Ag



,a ] gto]

17t 2 4l

9]

94

& AYP34

=

8.

2x+4y =2

x+ay=1

@ 2 ® 3 @ 4 ® 5

1



A
ail

1

%o

gt el 50

@
@

Fol x4 o] AL y goltt.

17Fyem?Q

Hol xem, =©

ol
| =

@ AA5 xo] 5o e A%

® A59] Lol7} xQ)

o] =9 Aol yolt.

2



y=a
% 24

x+b 9 J L] 7]27]7} 2 0|1 y Ao —2
T y=bx+a THEL=?

@

o]
=

m,



11. 71e717k10]a, y Aol 1 o LAkt 27t A (o, 3)= A8

w, a ] & Totoler.

=



12.

A2 y = —2x + 459F WAYTE y = ax + 2] YARt40] Tt
b, -HEAIHL S W, OF Fy=bx+ae?
®y=-2x+3 @ y=2x-3 @ y=-3x-2



o

13. o2 1389 AHFE ABCD = §F ¥ o] Zolr} _-10ecm-_ p

10cm ¢l AAtZrgolt}. 4 prl AR BC YIS ,
A Bol|A] 24tate] A C7HA] 2 Qlcka o /
_ _ 10cm 55cm?
o}, A}2Hg APCD ] ¥ o|7} 55cm? o]5h & ;
), A% BP 9] Zo|=? |
B P C
@D BP>9cm ® BP <9cm ® BP <9cm

@ BP <lcm ® BP>1cm



14. 10L & /7t Sol9+=
10 Eopc} 0.5L 4 A4 7ot
e FSyer o, x 2ty

715

D y=10-005x @ y=3x-10 @ y=10-3x

@ y=005x-10 & y=10-0.02x



vr
=



16.

A2y = (a+3)x+6 2 zaiz—g—_y
AAM 2x —y+8 =09 1z} y =
b O 2he T L,

5 L
3%

Ho ¥



=

+5 9 Jefmet g A x=1,y=2°] 1

stofzt.

=X

2AQl = 2 o]

=
=



18. & f(x) =ax—3°l tiste] (1) =14 ®l, £(5) - £(3) o] &7

@ 5 @ 6 ®7 @ 8 ® 9



245 y = 2x + b Q] DB mT} xET vhte
U= A

S (0, )L S 0, rx 5] S Tt



20. y=ax+39) TADE yFHe| Fo) Yoo 2 R B A
A0, -8 AL, y = —x- 29 xF o)A Tt
29 WA y = bx+a 1ol 9 g AL

@ (0,-2) @ (1,-9) ® (-1,5)
@ (-2,12) ® (2,-14)



